/ =AY = D

9 |=EP S 1| 2 5

| ST NSk BN 3 | 1 2

NZAM—H RHEAZ} | 53.6 | 6 | 4 3

EI+h4b LI'F#8& | 53.1 2 | 3 F

TI107YFvY HPREA | 49.2 5| 6 4

ANS—F kA | 47.3 |10 9 5

10 =i S 46.0 | 8 | 7 1

AXAD—D4F— DR | 45.2 Z |8 8

N PLIrR-N |BIEMS | 45.0 | 4 | 5 10
A=

10 ¥1,650 5-8-10 ¥4,270

5-10 ¥2,060 10-5-8 ¥45,130




/ e ra= g d
1 Pl e & REHZE 1 |3 6
2 S S kHZm | 555 | 5 | 4 1
3 | IV NER 552 | 3 | 5 4
4 XUJI7)NA> RS 53.3 2 | 3 F 4
5 SYATAARA |RHEH#{Z | 52.7 | 4 | 7 5
6 PUNAD(I(—FA |LGHEHE | 513 | 8 | 6 8
7 BUN>3—911] HPEA | 51.1 | 7 | 2 2
8 B JIhTNe EmAM | 484 | 9 | 8 3
9 ++/05UA BINES 6 | 9 9
10 Y9I BiEkn | 8304 | 10| 10 10
6 ¥660 2-6-10 ¥25,240
6-10 ¥2,260 6-10-2 ¥94,180




/ 3\ £222R [RF
1 AUFr— R SilAL 1|1 7
2 >7EhY NSk R 6 | 7
3 S4t4IvikY> |[RHEH#{Z | 53.3 | 4 | 4 10
4 YA |BIES | 527 | 3 | 2 2
5 "ASYIA—U7 |RILEE | 52.3 | 2 | 3 1
6 JTARU—F =t 51.3 | 5| 5 3
7 L u>ra SIES | 463 | 9 | 6 6
8 | 5 |35U0Frys1 WA | 45.6 | 7 | 9 5
9 VYT~  |anEs | 10 | 10 8

A5 LTS | 8 | 8 4
8 ¥490 2-7-8 ¥4,160
7-8 ¥1,130 8-7-2 ¥16,040




1 NYIRZN  |EEAE 1606 | 3 | 4 11
2 +5)=vE WERG | 57.2 | 2 | 2 1
3 | ZJIRLA AHEA | 56.6 | 4 | 3 5
a el 7uyy |mEBsS | 527 | 5 | 5 8
5| 5 [Ju->A-7  |mEmm | 523 | 1|1 2
6 Jys5yS09  (WWFHRE | 514 | 6 | 7 9
10 Rl FH#{_ | 48.1 | 8 | 8 5
8 FAXAYI—  [WKIEA | 459 | 7 | 10 4
o [Ll|F—bvs LIS3E | 445 | 10| 11 6
10 NI17—FE 9 10
11 A(339IRKIY 11 7
Ih=E

==): 1 3518 1-4-5 ¥860
=3t 2 1-5 3:EE 1-5-4 ¥4,820




1 | 5 [BAAZYIR hniEmesH 1|3 |0 4
2 | 6 |[AENTAZ IIFHRE | & ERE 3
3| 1 (U377 &#IL8%S | 551 | 2 | 1 1
"N 2 PrradV SBAE | 54.5 5| 8 7
5 | L |9IVRYE NEwE | 54.0 | 6 | 4 2
6 EEMT—5> KA | 51.3 | 8 | 6 8
7 Elomssv-0 |m=® | s0a | 7| 7 5
8 |\Plx{FykN—F |REE— | 47.2 | 10|10 6
o |5 Tuyshis |muEE | 46.9 9
10 Ll sans—yvz— |lLES¥E | 46.3 9 11
11 P 9405475 |[Hnmx | 443 | 12| 12 10
12 BYNFTIVON 11 12
A=

1 3iEE 1-6-10 ¥1,630

1-10 3EE 1-10-6 ¥5,560




/ Y #£226R [RF
1 = b iR e 1|1 5
2 | 1 |PYF4¥545 |ZHBH | 56.2 | 3 | 3 1
3 JUJANZI-A |#EHMNE | 56.1 2 | 2 2
4 P¥1—-bh-) |I5E®ET | 523 | 4 | 4 |
5 AR BA(Y P SE— 51.4 | 11| 7 9
6 U2 I7vi3a> | NSk 51.4 | 7 | 5 8
7 [N 7YOLy\-b |BIMEE | 49.8 | 9 |10 11
8 | 5 |v95955F |mEBsS | 406 | 8
9 BN 7PAYF KHZH | 46.1 | 5
10 CUNTVARIVST 2SS | 414 | 6
11 L0 aILgs5ya |masE | 38.0 11 10

1 ¥460 1-2-6 ¥4,030
1-2 ¥680 1-2-6 ¥15,180




4 ) 4£87R [RF
z = -4 = -
1 A—N—h—> WIFEs il 2
M 10 Pad)! HAKIEA (1596 1 1 | 2 4
3 | o \IPAUSY—)L |BIES | 535 | 5 | 3 1
4 | 5 |(NFYN\O kHEH | 53.3 | 6 | 5 3
5| 1 |ASJARAA REHE ] 52.8 3|4 8
6 W TETP>h NSk 48.1 | 4 | 7 =
EE FAUA>IIT SBAEl | 47.8 9 | 9 4
8 hIOFNVISA flEFE | 47.0 | 8 | 8 6
9 TIVRIATHT ISEFT 7 | 6 7
E TIADA> =i— | 31.2 | 10| 10 10
A=
EH g% 9 ¥370 4-5-9 ¥960
EiF 4-9 ¥430 9-4-5 ¥3,380




1 I LS WA | 60.2 | 2 | 2 1
2 PSvh715y  |IEE | 56.3 | 3 | 5 10
3 BURYSY MRS | 547 | 1|1 o 2
4 | 5 |[&>7F3NJ &R 53.6 4 | 3 4
5 FYd9N\F2yh (BILEE | 52.1 | 7 | 6 7
EE TJA4EXTY diKE A 48.8 9 | 7 3
7 | 1 |92F—-n~-) F#E | 47.7 | 8 | 9 6
8 -_ 9 PViy e =iE— | 454 | 5 | 4 8
o [N IZEFE-I 6| 8 5
T - EEI 10 | 10 9
A=
7 2-7-10 ¥1,920
7-10 7-10-2 ¥6,980




1| 1 |TATI5—K G622 1 | 1 7
2 FAIAEYSY |FWEE | 57.6 | 2 | 4 2
3 L bo—KYIZ2 (WA | 556 | 4 | 3 8
a [N yevILTF— | NIBIE 49.8 | 6 | 7 4
5 LN 79uti7Yy—0  |REBS | 49.0 | 3 | 2 10
6 RAFNWE—T1T |TEHE 48.2 | 9 | 10 9
7 O0—RFy—37 SRS 47.5 7 | 8 6
8 PAIMNWTIVE |ABEA | 469 | 8 | 6 1
g N1RIIIM1LAU— [IUTFEE 41.0 10| 9 3
10 kS B 5 | 5 5
N

B 6 6-7-8 ¥35,250
5 6-8 6-8-7 ¥329,770




/ 1Y £2210R [RE
1 | & |%A0)J7Y3—0 |HPEA 2 |1 2
2 |0 YJo-u- mERE | 565 | 1| 2 6
3 J)IR_ASHA | BEEFT 55.3 B |5 4
4 U3—/7Y—-0 1= 53.9 5 | B 7 4
5 PENIA3>9Y5v) |AEE— | 521 | 3| 3 1
6 | 1 (F39UI9A-) |REER 48.9 4 | 4 5
7 BERTI 007D Nk 46.6 | 7 | 7 3
8 RIADI-FIN |FisXKE | 42.5 8 | 8 8

3 NFo1r® thzkia A 3329 o | o 9

=

EHA 9 ¥700 QEEI:LE 5-6-9 ¥3,600
B 6-9 ¥420 3L 9-6-5 ¥14,990




Ny
L
B

|

TAILRE—SY |IUTH#EE 1| 1| o0 1
NVBAFY—-0 | ISk B a2 | 2 3
JEUD45 aIlES 55.3 N | 4 7
SHI)T1=h5 HKkmA | 53.8 | 6 | 7 6
TAILTA A4 |&IUEE | 52.7 3 3 2
- N WS 52.0 | 7 | 8 9
BTN J5>7274=— |Em# | 509 | 8 | o 8
4 [« APEA | 504 | 4 | 5 4
VA CATATA> HimAx | 47.0 | 11|10 10
10| 1 [LAUY—  |[BwEE | 361 | 9 |11 11
6 VEbPZirIE 1=t — 10| 6 5
11 ¥180 [e3L:: 3-5-11 ¥380
E 3-11 ¥420 E 11-3-5 ¥1,710




